1\ T A/ i \

MKI'“ | Eﬁzm_ Qoaj/ oY {fiflo ?5’
i } rﬂ:‘? /‘// / R
. Fing The “ﬁﬂowmg T(Z/\ :

2.0 |
,, T oS A ae——
f7><4 f( )\ /e/mi (/3) fé()w j 17;_ 5)<L+!
,AZ

x> 3
) f00= (o= bxt o (B1))T (d) fo0=A (@A L)
2 }*m& f/\@ /gowﬁ MC(X«W\\AN\ ,@OLW{ W\H’\\MMM Y’LM ]DOM}{:‘O\L mf‘{edﬁ% '
l;/% J@ TM *T (M?/ onl Ué Them ex\s‘tg Fxmermora xﬁé?f‘q{
e goph of fo0. A
() £69 = 3X7~@ X+ dx*+]
WY FO= o=ix + oiwx  (il]) For) =

3 Sedve Tl eqwttm\ o 3@1’7 y('tj
4/x%) (l)qi 6‘9?{7’?1-,/ \{f'(é‘)**B
Gr) g”(;f): - ot Yo)= 2, o) =2

(i) %?: = §14 33 Y=

4 Des\gs\ a v/*Q‘T\dhC‘ﬂ Conty Oj‘ yobume 20]%3 $o That
T Uses TR /&}m—&- AMOURE o]L M!XZA/E I fﬂ\é}” WWVQ
m&v\‘xmiy tly fﬁ%fﬁ& aven - The Cam




5 (Snells [aw) Ryt fgue represents The )
O)L' Qa SW\W\W\\Y\g FOO,Q A )QA ht beam Thavele }\‘

-*-YOm ?oﬁt /\ /zﬂcﬂ”e:l anvz Hm >w£ ;&r /D""“TB

/@aaxm wndermedth The WKU%‘ZY
Lt Y The Ve&c"f)/ f,@s‘gﬁ m Al
L o on Wallter

Prove Sredf Law -5 Refmﬂf\or\ accordwg /f& Wl{sCJL tho
path from T B thit taky the Lgst Airg mfusfxes
Rin. O, _ ~ANG,
v 7L
é Find the fo%mn mdéfm‘h mf?gm&
o ) x+2x 3dx (i7) f(/em(stﬁ)ﬁw?;f)c}f
SONSP g e (9 f@t -7 dt

\ \ h~
Q)Prwe= /&M sl |, ded WEK’ =°, |
" Use w 1 W @M): <X (M:-gmxj/x,
3 Y\(I\‘H)Qnﬂ

. @ Prove the formads fz+ + a% )

O») Use @) OMH}\@ Riemam Sum 1} S)\w

fiéx: jidﬁ«h—»




R R e
National Central University Examination Answer Sheet

[] #e#(Quiz) E i) F E(Midterm) L] #K#(Final) ?sﬁﬁ
A g M
(Course Title) - _ (Date) ?/}0

A/ e/ 4
(Department / Grade) (Class)

L A
(Student 1D (Name)

[

Sk eos R (1K) = 2R 4 _}R_-_[_ﬁ__[_{;_f]-mf-— s3]
(o) j’ {?(‘] Che X5 ) T (T* & P

."

s | i
(k) 3{:(,{}=3[x+q;ﬁ J‘ f’ifj_,(u '

= [MET} [ L—Lifxflj - feﬁ}

- l §X Y
A (1 T5ce1 !

b

i/
Gos 6+ St (X4 )]

plw

© ,folfx}= ji;: [cosbx + K1) ]
- }

3 [Uﬁ%vﬂ(+ St (X'+ 1) [ b simbX + 23K c,uf;{igrl]]

A e P - :L z £
D - Foar =5 X5 (2 x2) + K5 (B0-5X )
) ]L{K]r S +i}{‘ ez e gt
-—%f'mrrlwir | =t
>
foo=3xt- s oot Nea| o] 3| G| ] 0
{0 = 72X (x-1)° fo| — oo
fi =12 (x-1) Gx-1) fta| — lf’a: i 0| —
A

Ir’ |
TK=0 = ¢rticol ps.: X=0, |
F0=0= X=5 |

Ipm'ut -Jg In_]'rfl'ref-ﬁ:‘oh : K= h}f‘: s

p ,
):rﬂoo-ﬁ b, — “JL{G} = | .

# — H(Page 1) ¥ i




fit ok 48 W #5 35 (Start Here)

Lit) j—(_ﬁ_: (05™X + SinX
Fitx) = - oosx- (3-gmx - 1)
For= 2 40 - 2 o5k - SinX

¥ B l,ﬂ". . E 'C_. —
fo=0 = Critical pts. Y = +|.*1.|L,a Pt pR T ne 4

LfEthn]>9 9 f&enm) =

:i-(é+hTu\'|‘fD % ]( [-r'{—hﬁ,)

5 ! |{: NS enee
L=l . W i odd.
_£.
4
LI

_)"\éﬁ-h{h}{D @ :F{f-:.eﬁ'hll_f= Z

f ] i, = JI-[-T—;_'+h"]— - | whewe N € Z ondh 1t ol
1 F;(.

/O-Jm-ﬂ MO, j’ HhT) = j‘ ( r (8 ‘l‘lhtl.,] = 4 _. i E

“m J0=0 D LI 2 @K SnK = 0 4K smK - L=
. ‘ | £ [33 - [ E33
F sk = A5 5 x= hote: (3 % 6745

=4 + .ré = '1';-. =
casel * Ki= S TL —g = S e ) £43
[ i LT LH R 1 R S M ) an
%’ % < }{,(. L%“‘ or TL' < }i < En'.f - A B !E_{:L‘\ '15{5'-411 _r;_ o7 ';_L

el Yom ow AT x ~.;' ( 0573)
-I:UIT' —= & :‘:J_ 4 "_'L Ki» "El':l : ..”-'::‘. "ln‘r_:ll_-{— L

T g 7 T

consder T on L0210
N o 32| |, 0] elon | %

fo|l——| o o|—
ol —H+— o]+ o[-

<,

A 05| | 65 6| o8 )

Fl

,
2

=

o E

ol —

whae X E T
e ez , *_f;’ Xt ¢ J’

§r = R (Page 2)




L ok B T 45 33 (Start Here)

F. (i)

[ v x| el B

(i) jﬁf}{}= ,i_ll
1=t fo-wy
lf _F?’f‘] =0 = Gr?ﬂf@!.r l&ts.  h=0, 2 e i:. ;}f:;tl;niﬁ;:]lﬁrii ot K=
_ A point § wflecton of F0  does wet  exiot.
_%’ R jfl?{KJ 70 on X7 | Gk 'Jf”f_xl <O, X< '|
= jixlfﬂ} < O . j—j '?{_1] > O

L e . |
s (o) = © 15 {Jﬂq,x [Dr:ﬁ\\ WA Taalin

L

{ =
:I"m"} Zlﬁ' s {‘,LQ/ l:,,_—;cm bl vl i,

A |,
(20,0)| 0 |.10){ (1,2] > | G,%)
fio| o] — |0 Sofo=t0  fodo=-a
Fo ll |~ i ;\E‘v@ﬂ-fa{] =+ 4['_«;:“@ f‘fﬂF -0
) %= | i 6 verticol

b 2 L= e 0 =

*—3 4]

b

N e exises o 4lowt. dsynptate JF fe)

Jet d= Wb Lo o tlovt Blymptete, Q'F 1)

% = H (Pagt 3}'




B g N ;35 (Start Here)

qu&_[—&— (x4l = 0
= L X(F-m-%) =0

3R X/
i X T’\L‘M_i_o
= M 3= X+

~) ﬂ [;{‘J r{:{+LJ]:{‘; = L im'k':[?

15

7 3T K-l

7%

P

M %0 = ) wsTt M =+ st C

M =g dnieC=3 = (=3-+
2, g-l:{;:':'%é.‘hﬂtf?'—%

W Y= §t- ot de = 3t ,;m+ + G
10)= €= > 3 Jor=gt-st+2.
1) = 1t -swmtenr de = F£%+ cost + 2t + ¢y
fe)= 1+ ta=2 = (= |

SO = e 2« et 4 |

&

{»lln:»'n-f:, E\é)'mﬁb%ﬂ .:‘[ “j:'rv"i?. .

#w | (Page 4)




ISR PN S e e
National Central University Examination Answer Sheet

|| F85-#(Quiz) V] 9 #(Midterm) L] #1%#(Final) '{iof}‘
f+ H A 1/,

(CourseTitle) RiSilic B

/4 JL/ 8

(Department ! Grade) {Class)

L %

(=Student ID) (Mame)

(iii) lElf‘t] = 5 gta-‘rg{;" 3 .[)[_'L = l"fﬁ"l‘ ‘tgr It + 0
‘HQ}: Y+ l-3+0C = |

— :?l {;: |I
k. p— " "li‘ 3‘ s
Sl = 2ttt €= 31 4|
."r—_”lrr*-:' — . k_“ 2o
V=TLlrn =4 = h= — ,1
& L e B = K
S=2Wr +2Trh = 2TV +% J.,;;; N
= _d""g'rﬂ = 4—TT’"‘£ é&ﬁéir}:
dr 2% L Eo
: i |
= 1 -—-}_ft).-. & 5~ | lovE _ ]_Di_
= h= L ro=2 'W_L(}z} = D{TL,) = 1F

% —  (Page 1)




P g8 ) £5 5 (Start Here)

;f
7.
AP ¢ R BN B N (P V1
Tx)= 5 ﬁ; 7 =5
= J
— A _ Li-%
N T [P
= S E'| _ AN
i Te _
KV b S5 ,
jr (¥) = Toam \ﬁ’* T [CL-aYs 2 ]%
J .2'-|ﬁ t-?l _ éﬂa E‘fﬂ
:IKOQ = v ::'} T N Ta

jm = -_)i_r— X+ :{'3# c
_5 Sin(s43) + 3 w053 b = ,._ Cos (Ce+3) + <in3t + C
@ § 560 bt - L om0+ ¢
o j {‘*rt#‘ﬁ_ldﬁ - —%{fmﬁf}_ﬂ- C

7.

() — sk <Ll *s_-_{-i?" e
L lahesh S
| s
Thegdh o ok g
Sotothedth o oo B
U Qe S = %M | = |
[ snb _ |

:‘f;. _?%.w:aw.af T,

% — @ (Page 2)

ha.




etk B M 4 F (Start Here)

Sienfr

Eﬁﬁiﬂv\fﬂ- Cﬂ;i"‘ ﬂﬂﬁl. e D ‘J;HC-'&'GH, (i L...:'lw'[;‘} "U[Ez S g J‘Eé‘r'jt

n
{

Jor "E."}“*"“qg_

-&ﬂékf%:{.1 , fop Echco
Sk g :
= e ] '[\}I:;j 5@_@,:&2& ﬂ[w)
/6,2 -‘fgihl-_'l. _ '|
Henw h ~;'2-" - ) .
i ws h = | _f. =S . ek _-din
T«(}J;fo ﬁ? holeesh +1)  ~ ‘E‘T h (eotho+ 1) A k|
9,
{H-l,f]
1L . ! "-3‘-%(,‘?"\+|n"|— 1 . L Gk s+ M#:{ #11.-,]-‘, éh}i
. L] (‘5.';-1};.‘;'.= —‘.rf.'u k“- ’ - Jd . §
= ,ﬁrw—-emn}( mgL’ + s ¥ - —%\
= s
- I A uqy{ 006 o= £l dirh = o5 X
(&“)“ W e T
ﬁq’» { ey L"ﬁ;— AN S ‘f’t—“*&j
= - 4wX

5. |
@ N OeK) = [+3 K420+ K
S (1)Y= 153143 1%
U‘fl}=l+5-l+3-g_+l
(1+3)= 1¢3-3+3.3+3

¥
"

*,

£) (+nY= |4 3n 4 3040

n w o, Wy . '.
{‘l'*m}:h*%'%ﬁ*%'g_rk + ] %;K = ‘ﬂ%‘fi‘_}

% = A (Page 3)



it 2k gL M 3 5 (Start Here)

DK R I g R LK 4 K
D (e '= v 4| +6- [T+ 4 P« [F
(142)%= |+ 4.0 + 62+ 42+ F
(1+3Y¥= |+ 4.2 + 637+ 4 37+ 3"
2 (1en)'= [« gont b+ 400+ 0

=2

- {O K <K< e XK= } L?E ik F[J.\'rf_i"ff:ﬂ'l-ﬁ ﬂ{‘] Le. II,] CWLG‘L P—\'}(t:_:q
7 i L = ket ) {2kt
:Rn E—(L’x‘. x.j{‘m) r| L_ﬁl %_— ‘.r“l-" B -"Lﬁ]?i—l
= i R, =+

=2

) R S nin-1)(2h-1)
L= & (M, ‘fﬂ = o f6) v = = T g
;‘) L—?MEG L" =3

}” _ Jh " ) woo w ; )

Ro= & (fi) e - E46 -1 (455
9 o=

> 3=l pet g3 s

L= & (Ufeo) axe= £ febo 4 = 5 = (25=)
= ‘*—3"’"‘ ]'—Hn:_;lq.

% @ B (Page 4)



	1.pdf
	2
	3
	4
	5
	6
	7
	8
	9
	10

